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IMPORTANT INSTRUCTIONS
IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET CONTAINING 100 QUESTIONS IN ENGLISH &
HINDI LANGUAGES DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING
PAGE(S) OR ITEM(S), ETC. IF SO, GET IT REPLACED BY A COMPLETE NEW TEST
BOOKLET OF THAT SERIES.

You have to enter your Roll Number with blue or black ball point Roll No.
pen in the rectangular Box of the Test Booklet provided alongside.
DO NOT write anything else on this Test Booklet.

You have to mark / encode all your responses / answers ONLY on the separately provided OMR Answer
Sheet. Read ‘Instructions for filling the Sheet’ printed on this sheet.

Before you proceed to encode the answers of the questions given in the Test Booklet on the OMR Answer
Sheet with blue or black point ball pen you have to fill your Roll Number, Application No., Booklet Series,
Name of Paper, Code & Examination Centre in the rectangle boxes provided in OMR sheet.

Please note that it is the candidate’s responsibility to encode fill in the Roll Number, Test Booklet Series (A /
B / C /D) and Application No. carefully and without any omission or discrepancy at the appropriate places
in the OMR Answer Sheet with blue or black ball point pen. Any error detected in the scanned data of the
Answer Sheet due to wrong encoding of either Application No. or Roll No. or both by the candidate, his/ her
Answer Sheet shall not be evaluated and shall be rejected straight away.

Each item / question of the Test Booklet comprises four responses (answers). You will have to select the
correct response / answer which you want to encode on the OMR Answer Sheet. In case you feel that for the
given question there is more than one correct response / answer, mark the response / answer which you
consider the best. In any case, choose ONLY ONE response / answer for each item / question & encode
accordingly in the sheet. All items carry equal marks.

After you have completed filling in all your responses on the OMR Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Original Copy of the OMR Answer Sheet. You
are permitted to take away with you the Test Booklet & Candidate’s Copy of the OMR Answer Sheet.
Sheet(s) for rough work is appended at the end of the Test Booklet.

There will be negative marking for incorrect answers (as detailed below) for all objective questions:

(@) There are four alternatives for the answers to every question. For each question for which a wrong answer
has been given by the candidate, one fourth of the marks assigned to that question will be deducted as
penalty.

(b) If a candidate gives more than one answer, it will be treated as wrong answer even if one of the given
answers happen to be correct and there will be same penalty as above for that question.

(c) If a question is left blank i.e. no answer is given by the candidate, there will be no penalty for that
question.

(d) Where there will be two correct answers instead of one correct answer out of four options of a question,
all those candidates who will encode any one of these two correct answers will be awarded marks allotted
to that question.

In case of any discrepancy found in English and Hindi versions of the question, the English version may be
treated as correct and final.
No marks shall be awarded for scrapped questions.

USE OF MOBILE PHONE OR ANY COMMUNICATION DEVICE IS BANNED IN THE EXAMINATION
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1. Which of these are the findings of the Hawthorne Experiment?
(A) Men are not precise like machines.
(B) Money cannot be considered as the sole motivating factor for
workforce.
(C) Workers’ productivity is solely governed by the physical working
conditions.
(D) The workers tend to form an informal group in the organization.

SAH A P T gegld TAT & Tshy g2
(A) 9eW HefeT &1 e Fereh 8l Bid|
(B) S & folT YT I ThATT Reh HRb Aal ATAT oIl TohdT gl
(C) #fAeRT &I 3culgehal U e @ IR H FAfddr garr Hafaa gl &
(D) FRIHAT ST H Th HATAIRS HHAE T

2. The dimension of social responsibility refers to a business’s
societal contribution of time, money, and other resources.
(A) Anthropocentric
(B) Ethical
(C) Philanthropic
(D) Volunteerism

TS fSFReRr T A T qadrd & TFd, 8 3R 3T
FEIAT & FHATTOI AT T T Har gl
(A) HATTachigd
(B) aAfds
(C) UIUhRY
(D) TTTSHarg
3. Match the items of the List-1 with those of the List-2 and indicate the
correct code.
List-1 List-2
a) Positivity income elasticity (i) Substitute Goods
b) Negative income elasticity (ii) Complementary Goods
c) Positive cross elasticity (iii) Inferior Goods
d) Negative cross elasticity (iv) Superior Goods
a) b) c) d)

(A) () (iii) (i) (iv)
(B) (i) (iv) (i) (ii)
(C) (iv) (iii) (ii) (i)
(D) (i) (i) (iv) (iii)
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-1 @1 #Jel A g2 Hr #@er @ gAfad NfST Tur @@ FT F7T 3edw
i

-1 -2
(@) TPRIcHSDAT T olid (i) TATATYeod AT
(b) STPRIcHS T &I (i) RF AT
(c) TFRIcHS HIE oI (iii) 37} AT
(d) FTPRCHS HIF o (iv) dgR Fr&A
e

(a) (b) (o (d)
(A) () (iii) (ii) (iv)
(B) (iii) (iv) (i) (ii)
(C) (iv) (i) (ii) (i)
(D) (i) (i) (iv) (i)

4.  Suppose the demand and total cost functions for a monopoly firm are as
follows:

Q=100-0.2P
P =5005Q
TC=50+20x Q+ Qsquare

What will be his profit maximization output?

(A) 20
(8) 10
(C) 50
(D) 40

A NTST fh Th UHITUSHRT B & AT AT 3R Fel oETd Bl 6 THR
&

HMET (FY) = 100 - 0.29r

7 (@) = 5005Q

Sel o (€ @) = 50 + 20 x FY + FF I
38T ATARAH A 3G FAT gIoM?
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In Porter’s Generic Strategies Model, a focus strategy involves:

A. Selling a limited range of products

B. Selling to a narrow customers segment

C. Selling to one region only

D. Selling simple products that are cheap to produce

T & AT 0T Alsed H TH Blhd 0 J AT 8
(A) 3cqrer @ Teh Hifad Aol fr foshr

(B) Teh HhIUT IATgh TS I Sl

(C) hdel Th &1 I ST

(D) T 3G ST S 3cUTeed et & fov TE&d §

According to Ansoff Product-Market Expansion Grid, intensification can be
achieved through three distinct strategies. ldentify them out of the
following:

(i) Market Attractiveness

(ii) Market Development

(iii) Market Penetration

(iv) Product Development
Choose the correct answer from the options given below:

(A) (i), (ii) and (iii) only

(B) (ii), (iii) and (iv) only

(C) (i), (ii) and (iv) only

(D) (i), (iii) and (iv) only
TH® 3UE-SR faFdR @15 & 36@ER i 3efer-3re@ WEfadl &

ATCTH T IGAdT 9T T ST Fhal gl Iog HAeATET H & UgdTet;

(i) SR 3RYoT
(i) SR faerE
(i) 9OIR H gAY
(iv) 3cure faerd
A fow v Redt # @ w1 3R glaw
(A)  Fwadr (i), (i) 3R (i)
(B) haer (ii), (iii) 3R (iv)
(C) ae (i), (i) 3R (iv)
(D) Fadr (i), (i) 3R (iv)
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7.

Identify the techniques of ‘Artificial Intelligence’ from the following:

(i) Artificial Neural Network

(ii) Fuzzy Models

(iii) Genetic Algorithms

(iv) Heuristics

(v) Support Vector
Choose the most appropriate answer from the following:
(A) i), (ii) and (iii) only

(B) (ii), (iii) and (iv) only

(C) (i), (ii) and (iv) only

(D) (i), (iii) and (iv) only
fafaf@a & & 3RERITe sefosia fT doeiiel T ggard o

(i) A dTPT Acash

RS IES

(iii) SAfew TemRed

(iv) aﬂm?ﬁ

(v) THIA dFeX
fAfaf@d & @ o8 3ugFd 3 giaw:
(A)  Haa (i), (i) 3R (i)

(B)  hadl (i), (iii) 3R (iv)

(C)  &hae (i), (ii) 3R (iv)

(D) Sad (i), (i) 3R (iv)

The right sequence in respect of stages of group development is:

(A) Forming, storming, norming, performing and adjourning
(B) Storming, forming, norming, adjourning and performing
(C) Norming, performing, storming, forming and adjourning
(D) Storming, forming, norming, performing and adjourning

THE faerE & TROl & Hau H T8 FA &
(A)ITS, I, 3eeT, Yedie 3R wufaa
B) @I, 36+, 3Mes, TAFIT 3R gedie

(B) 1t
(C);rrﬁr-‘m Seid, i, TS IR T
(D)WIeT, 36, e, el 3R Tufa

N

Six sigma level of quality management results in:
(A) 3.0 defects per million opportunities
(B) 3.2 defects per million opportunities
(C) 3.4 defects per million opportunities
(D) 38 defects per million opportunities
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I[UTadT Fete & @ @ear T &1 aRomH g
(A) 9T TAfee 3aeT # 3.0 aw
(B) ufar fAferge 3@eRt & 3.2 aw
(C) ufa fAforge gt & 3.4 aw
(D) ufa fAforge gt & 38 g

10. Match the following:

List-1 List-2
(Market Structure) (Feature)
(a) Perfect Competition i. Productis differentiated

(b) Monopoly ii. Homogeneous or differentiated

products

Factors of production are freely
mobile between firms

(c) Monopolistic Competition iii.

(d) Oligopoly iv. Legal restrictions on entry of new
firms
Codes:
(a) (b) (c) (d)
(A) i ii iv iii
(B) iii iv i ii
(C) ii iv iii i
(D) ii iv i iii
-1 &1 F7a&l @ gA-2 f AT @ gafaa Hifaw
ol -1 T - 2
(ISR |I==T) (FrER)
(@) of gfaeaar i. 3carg faRfed &
(b) THIER i. T Ir AAfeT 3curg
(c) UHIFR gfaafaar iii. 3culee & PR BAT & ST TadT T F
GIEIEC
(d) 3reurfEsR iv. @5 BAT & JAU W FHAT Fidaer
e
(a) (b) (c) (d)
(A) i ii iv iii
(B) iii iv i ii
(C) ii iv iii i
(D) ii iv i iii
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11.

12.

The DuPont identity breaks return on equity (ROE) down into three parts,
namely:

(A) Profit margin, total assets turnover, and financial average

(B) Net profit margin, gross profit margin, and equity multiplier

(C) Total assets turnover, net profit margin, and equity multiplier
(D) Total assets turnover, gross profit margin, and equity multiplier

SgUlec Ugdlel giaracl W Reel (3T 3T $) A e HEI 7 fqeaiolad e &
(A) o AIfSe, el Jufd SRR, 3R O e

(B) 2[e®r T AT, Hehol ST HTiolel, 3R STFaT oteh

(C) el WU FRITR, YGH ST HAfolel, IR FTFaer qoreh

(D) el WU HRIIR, Hehol WM ATolel, R SFAT I0TH

Read the following regarding PERT and CPM:
(a) PERT is probabilistic in nature and CPM is deterministic in nature

(b) PERT is most suitable for new as well as old projects, but CPM is of
great value for projects that are repetitive

(c) PERT focuses primarily on time element and attaches lesser
significance to the cost. On the contrary, the CPM puts strong
emphasis on cost

(d) PERT is activity oriented, and CPM is event oriented

Find the most appropriate answer:

(A) (a) and (d)

(B) (a), (c) and (d)

(C) (a), (b), (c) and (d)

(D) (a) and (c)

PERT 3R CPM & Teyg # Heafaf@d de:

(a) PERT w&hfd & ey g 3R CPM wohfd & fardicas &

(b) PERT o$ 3R Qe 9RAGAST & fv @98 39ged g, ofhd CPM 3o
IREASTATH & T agd HEAqUT ¢ Sif GBI S g

(c) PERT #&T &9 & HAY dcd W higd § AR N &I &7 Hecd Sl &l
sad Al CPM T oY §gd S &l g

(d) PERT ifafafer 3=7@ ¢, 3R CPM e 3-74@ §

qeH 39gFd IR Tl

(A) (a), 3R (d)

(B) (a), (c), 3R (d)

(C) (a), (b), (c), 3R (d)

(D) (a) 3R (c)
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13. If bxy=0.25, and byx= 0.64, then the correlation coefficient is:

(A) 0.16
(B) 0.30
(C) 0.40
(D) 0.89
gfe bxy = 0.25, 3R byx = 0.64 §, @ HeH« UMH &
(A) 0.16
(B) 0.30
(©) 0.40
(D) 0.89
14. The is a structured communication technique or

method, originally developed as a systematic, interactive forecasting
method which relies on a panel of experts.
(A)  Delphi method

(B) Complete enumeration method
(C) End use method
(D) Graphical method

Th WRd §IR deelier a1 [T §, 09 A0 &7 @ @&

SqgTeYd, Wmmémﬁmﬁamw%ﬁ%ﬁqﬁ
& THh U W TR = g

(A) S [afer

(B) ot rurer fafer
(C)  3fas 3uer fafe
(D)  ITheher fafe

15. Discharge of a contract due to material alteration falls under:
(A) Novation
(B) Operation of law
(C) Remission
(D) Substituted agreement
Hifrer aRacer & HROT 31gaer 7 fodgel feeT & 3icdeTad 3mar &

(A)  Favads

(B)  HIefed T HTele
C) ge

(D) gforEud aaetdr
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16.

17.

18.

The amount of compensation payable in case of breach of contract and
stated in the contract is a case of

(A) Liquidated damages
(B) Penalty
(C) Punitive damages
(D) Special damages
IS & Sooltel & HHA H &I H3Tael & ARN AR ey # s g ARy
T ATHCT g
(A) IREATTA TRt
(B) SIHTT
(C) GCacHE gollall
(D) faRIw FTeharsT

theory of motivation refers to an individual’s belief
that he or she is capable of performing a task.
(A) Self-determination theory

(B) Social cognitive theory
(C) Social-learning theory

(D) Reinforcement theory

SR & faguid foRdT Safed & s fdeard & d@efid aXar
¥ 5 g8 FE S A e 7 Ta g

(A)  3cAfAcT feuid

(B) wHISIF HaAAIcHS fHcuid

(C) wmHfo-fetor Rgya

(D) gedetor fagurd

What is the maximum penalty for non-compliance of direction of the
Central Authority?

(A) One lakh Rupees

(B) Five lakh Rupees

(C) Ten lakh Rupees

(D) Twenty lakh Rupees

AT IIRIOT & AT T greled o ey W HhaH &3 Far &7
(A) TS d@ 9T
(B) U™ oM@ ¥
(C) cu g T
(D) & 9@ I
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19.

20.

21.

Identify the odd one out:
(A) Banker’s cheque
(B) Demand draft

(C) Order Cheque

(D) Share certificate

v = ggafaw:
(A) SH AH
(B) f3&Ts e
(C) 3R &
(D) W AT g7

Who among the following coined the term, “The four Ps of Marketing”?

(A) Jerome E. McCarthy
(B) Jerome Powell

(C) Philip Kotler

(D) Seth Godin

AFIfa@d # ¥ f5aa "QAuueT & IR Ps" areaiel &1 ar?
(A) SRIF §. Hepreft

(B) SRIE didel

(C) Tferd shicer

(D) To ImfeaT

Identify the odd one out in context of ‘4 Ps of Marketing’:
(A) Assortments

(B) Channels
(C) Features
(D) Locations

TAUUTT & 4 Ps' & desT # TAWHA &I ggara &l
(A) aTefferzor
(B) deTel
(C) Ty
(D) TUET
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22. Match the items of Li/st /with those List /.

List/ Listll
(Description) (Theory of Motivation)
1. Behaviour is a function of its i. Expectancy theory

consequences

2. Achievement, power, and affiliation are ii.

three Important needs that help explain
motivation

3. People prefer to feel that they have iii.

control over their actions

4. Motivation strength = Perceived value iv.

of result of performing behaviour x
Perceived probability that result will

materialize
Codes:
1 2 3 4
(A) i i iii iv
(B) ii iv iii i
(C) iii iv i i
(D) iii iv i i
G | AT AGH g I d oA & gAfad A
|
(fRazon)

1. YR ST YRUMAT Hl Teh S g |

2. 39cifeRy, AufdFd, AR Feeyar 9 e
HecaquT SR § S 90T &l §HSIe
H Fce Xl & |

3. T UE AR T GG I & F
3T 3oTh P WX 0T § |

4. 9ot ATFT = STIER FA & gROTH T
HFANAT Hed x 38 IRONA H AT H
3T T HIAT AHATGAT

Codes:
1 2 3 4
(A) i ii iii iv
(B) ii iv iii i
(C) iii iv i ii
(D) iii iv i i

COMM-23-APCC-A

Self-determination theory
Reinforcement theory

McClelland’s theory of
needs

= Il
(RO HT RAgwia)
i SR ewurd

ii. georaur Aeuid
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23.  Which of the following theories of motivation proposes that effective group
performance depends on the proper match between the leader’s style and
the degree to which the situation gives the leader control?

(A) Behavioural theory

(B) The Fiedler Model

(C) Leader-Member Exchange (LMX) Theory

(D) Life Cycle Theory (LCT) of Situational Leadership

Won & fAefaf@d & & Sl @ feyua geafad #ar § & g g
Uede Adr i delr 3R 37 B & g 3T Baa W AR war & T w
feufa Aar & @z=or & 872

(A) =@@eR fguia

(B) hser Al

(C) Aar-Hexy RAfAwT (vor wA wad) ffeurd

(D) aRTEITISIT dicfea 1 Siae =sh fAeerd (T & &)

24. Match the items of List | with those of List Il
Listl] Listll

1. The tendency to selectively interpret (a) Contract effect
what one sees on the basis of one’s
interests, background, experience,
and attitudes

2. The tendency to draw a general (b)Halo effect
impression about an individual based
on a single characteristic

3. Evaluation of a person’s (c) Selective perception
characteristics that is affected by
comparisons with other people
recently encountered who rank higher
or lower on the same characteristics?

4. Judging someone on the basis of one’s (d) Stereotyping
perception of the group to which that
person belongs

Codes:

1 2 3 4

(A)  (c) (a) (b) (d)
(B) (c) (b) (a) (d)
€ (o (d) (a) (b)
0 (o (b) (d) (a)
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-1 T AT & FE-2 1 F7&T & AT Hifaw:

T |

1. S 3o ¢@dr § 38! gider sarear w
 gafr frelr & R, grou®, I &
YR WY, 3 gfeeanror

2. Tohel fAAYAT & HUR W IfFd & aR
# Teh AT YR §ollo T T

3. fordly cafad &1 faRwarsHt &1 Fqeaidsd it
g & A A AT 3 A9 & qry
dolell #eh YHlidd glar & S @&AwT
favansit o 3= a1 v & aa §

4. ThET HHg HT URUM & ITUR WX R
afFd # 3daT SE@Y 98 FeRT &

il
(a) 3TIeer geTT

(b) el FeITa

(c) TIATcHS gROI

(d) EIRIrersieT

List I
(Features)

Perceived conflict, Felt
conflict
Antecedent conditions
Overt conflict
Increased/Decreased group
performance
Competing, Collaborating,
Compromising

Codes:
1 2 3
(A) (o) (a) (b) (d)
(B) (o (b) (a) (d)
€ (o (d) (a) (b)
(D) (o) (b) (d) (a)
25.  Match the items of List | with those of List II:
List |
(Stages of conflict)
1. Potential opposition or (a)
incompatibility

2. Cognition and personalization (b)

3. Intentions (c)

4. Behaviour (d)

5. Outcomes (e)
Codes:

1 2 3 4 5

A. (a) () (d) (e) (b)

B. (b) (@ () (¢) (d)

C. (a) (b) () (d) (e)

D. (e) (@ (b)) (c) (d)
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-1 T AT & FE-2 F F7Gl @ AT HIfAT

gl -1 (FEY & =)o) gl - 2 (f3Avdr)
1. demfad Ry o s a) ST FEY, HOY Fegy
2. 3Iyfd 3R dafeFaeor b) Yaadt et
3. T c) Yol HEY
4. TIGER d) HHg & YT H gefer / HaAr
5. 9RumH e) gfaTgur, eI, FHSIAr
ETH
1 2 3 4 5
A. (a) () (d) (e) (b)
B. (b) @ (e (¢ (d
C. (a) (b) (c) (d) (e)
D. (e) (@ (b) (c) (d)

26. A firm has sales of Rs. 40 lakhs, variable cost of Rs. 25 lakhs, fixed cost of
Rs. 6 lakhs, 10% debentures of Rs. 30 lakhs, and equity capital of Rs. 45
lakhs. Firm’s operating and financial leverages shall be:

(A) 2.5 times and 1 time respectively

(B) 2.5 times and 1.5 times respectively
(C) 1.67 times and 1.5 times respectively
(D) 1.5 times and 1.67 times respectively

T BA I fhr 40 @ T, qREAAT arRid 25 o 399, fAfREd @
6 oM@ 9, 30 oG FY & 10% fSee], 3R sfFadr ot 45 @ & | B &
gREraa 3R fada 39res ghen:

(A) #EM: 2.5 IAT IR 1 T[T

(B) shAM: 2.5 I[AT 3R 1.5 [T

(C) shaer: 1.67 = 3R 1.5 [

(D) sheARr: 1.5 AT AR 1.67 [T

27. ABC Ltd. provides the following information:

EBIT Rs. 6,00,000
Interest on 8% Debentures Rs. 2,00,000
Corporate Tax Nil

Cost of Equity (Ke) 12.5%

Total value of the firm and overall cost of capital using Net Income
Approach shall be:

(A) Rs. 34,00,000 and 20.5% respectively

(B) Rs.50,00,000 and 11.25% respectively

(C) Rs.50,00,000 and 10.53% respectively

(D) Rs.57,00,000 and 10.53% respectively

COMM-23-APCC-A Page 14 of 44



28.

ABC faffics efai@d IR Yerd &idT &

g & 3ms < (EBIT) ¥ 6,00,000
8% TSk WX =arer ¥ 2,00,000
FIARE TH: YT
sfFaer &I ot (Ke) 12.5%
[CY 3T TfSCHIVT FT 3TN FIA §T BH & Fel #Fed IR ol A el 1T
graf:
(A) s 34,00,000 TTF 3R 20.5%
(B) s 50,00,000 T9F iR 11.25%
(C) s 50,00,000 9 3R 10.53%
(D) s 57,00,000 9 3R 10.53%

Which of the following statements are correct:

1. Objective of cash management is to minimize the cash balance.
2. Cash needs of a firm largely depends upon its manufacturing/cash
cycle.
3. Concentration banking reduces mailing, processing, and banking float
4. Baumol model of cash management gives us optimum size of borrowing
or withdrawal at a particular point of time.
5. Baumol model minimizes only the transaction cost of cash
6. Miller-Orr model of cash management can be used for stochastic
(irregular) cash flows.
Codes:
(A) Allare correct
(B) All are correct except Statement 1
(C) Statements 2,3, 4, & 5 are correct
(D) Statements 2, 3, 4, & 6 are correct

fArfoi@d & & &l a1 &y T@@l &

1. AHS YU HT 36627 V3 AV FH ~GoIdH el o

2. T HH &I dAhel Pl ST HIHT &G doh 3T [ATUI/Thel dsh W TR Al gl

3. UHErAr sfeher Afeir, WA 31k SR welle &1 &7 Far &

4. FAdhe YU FI AT HAlsed g4 fhdl XY IFHT oW IUR o A1 AhrAT Fr
SSEAH 3THR ST ¢

5. STATT ATSST shddl dAdcl $T oelced oIdTd &l e HIdl ¢

6. sThel UaUA P fHR-3NIR ASA FI 3UINT Terhited (faafdd) dAwdr yag &

forT forar ST gepar &
HIS:
A Toft Oer §
B HUT 1 T OgH T T &

)
)

C) FUT 2,3, 4, IR 5 TET &
) HUT 2, 3, 4, 3 6 T &
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29.

30.

31.

32.

The sum and substance of ‘Maslow’s Need Hierarchy Theory’ of Motivation
is:

(A) Satisfied need is a motivator

(B) Unsatisfied need is not a motivator

(C) Satisfied need is no longer a motivator

(D) Human needs can be classified as hygiene factors and motivators

OROT & "AREA & ATl YSTIshA Aeend’ 1 I 3R IR &
(A) TS SR Teh W &

(B) 3THJSE 3MMaRTehdll Teh Weh el &

(C) HJSC HTaeTehall 3d ek wTgT ¢

(D) AT TERIRATI I FTTSAT HRebl AR Il & & H gafieped fohar T
T &

In which of the following companies ‘Six Sigma’ was first experimented?

(A) Ford

(B) Motorola

(C) Sony

(D) Toyota

AeIff@d # & 6T Sust A T8 {aAT &1 9ge 96T fhar ar=r ar?

(A) WIS

(B) HICRTeT

(C) @i

(D) crarer

Job evaluation is done primarily for:
(A) Fixation of Responsibility

(B) Promotion

(C) Wage determination

(D) Assessment of training needs

S FHedichd HET T ¥ foest & T fham ST &
( fSFAeRY &1 eRor

(B SCTIC

(C :Ha§§| GA3IR

)
(D) GTA&TOT SIEIAT T 3TTeholel

A)
)

“Selection is the process in which candidates for employment are divided
into two classes — those who are to be offered employment and those
who are not.” This was stated by:

(A) Dale Yoder
(B) Keith Davis
(C) Edwin Filippo
(D) Peter Drucker
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33.

34.

"TIT I8 Ifhar § FEH 99K & QT 3FAicary & e gt 7 Jantea
S & - Sieg Qo i Qereper Hr S § R e Jd1T I s
_ CORT gl I34m T |

(A) Sl AT

(B) g sfaa
(C) usfasT fpfora
(D) drex gt

Arrange the following machineries in the correct sequence they are
approached for settlement of industrial disputes?

1. Industrial Tribunal

2. National Tribunal

3. Conciliation

4. Labour Court

Codes:

(A) 3, 1, 4, 2
B) 3, 4, 1, 2
c 1, 4, 3, 2
D) 3, 2, 4, 1
eIt et & fATer & fov d9s $r e arelr Frafafad @fienT &
Tl T H yafeyd 1

1. 3@ =T
2. TS =granfeor
3. g®

4. HH AT
%

(A 3, 1, 4, 2
B|) 3, 4, 1, 2
c 1, 4, 3, 2
D) 3, 2, 4, 1

An organization that is downsizing to reduce costs is implementing a grand
strategy of:

(A) Growth

(B) Focus

(C) Renewal

(D) Stability
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Teh ST S JIPld $H i & [T 3SR HF T G & $r
T TUATT o] FT T &

(A) [EEDR:]

(B) Blnd

(C) TdTeATehoT

(D) eeRar

35. Match the following:
List - List-1I
(Product) (BCG Matrix)
a. Cash cows 1. Low growth rate, high market share
b. Stars 2. High growth rate, high market share
c. Question marks 3. High growth rate, low market share
d. Dogs 4. Low growth rate, low market share
Codes:
a. b. c d.

(A) 4 3 2 1
(B) 4 1 2 3
(C) 1 2 4 3
(D) 1 2 3 4

T A A g2 B A & grfa A

-1 -2

(379TE) (st &Y St Afea)
a. & I 1. &7 TP T, 3Td IR BT
b. AR 2. 3=9 Qg X, 3= IR BEdery
c. U3 e 3. 3= O &, &7 TR Ty
d. & 4. 7 [JE T, T TR FEAERY
Fe:

a. b. c d.

(A) 4 3 2 1
(B) 4 1 2 3
(c) 1 2 4 3
(D) 1 2 3 4
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36. Match the following:
List |
Follower Readiness
a) Able and willing or confident

b) Able but unwilling
unsecure

c) Unable but willing
confident

d) Unable and unwilling
insecure
Codes:

a b

(A) 4 2
(B) 4 1
(c) 4 3
(D) 1 2

or

or

or

w DN =20

Listll

Appropriate Leadership Style

N =

w

. High task & High relationship

Low task & high relationship

. High task & low relationship

Low task & Low relationship

-1 FAer A FgA-2 H FEl F gafad Hfse:

-1
AR et
a) HaTH 3R gToh AT McATIRard
b) TeTH Afehet Mg AT Irgrfard

c) 3 A AfheT ToF AT IcATaRaTEr

d) 3EAEY AR Hiegs I grierd

e
a b

(A) 4 2
B) 4 1
(C) 4 3

1 2

(D)

w DN 2o

d
3
3
1
4
-2
39gFd Aqged A

1. 3T HY 3R 3=9 F@&Y
2. HA & IR 3T FaY
3. 3=d & 3R AT oy
4. HF T AR FA U

Hh a2 wwia

37. Which one of the following methods of ‘Performance Appraisal’ involves
ranking employees from best to worst in respect of a particular trait?

(A)

(B)
(C)

(D)

COMM-23-APCC-A

Alternation Ranking Method
Forced Distribution Method
Graphic Rating Scale Method
Paired Comparison Method
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38.

39.

ASUTes Hediehel & HAEATAET Tt & & food Toh A Thell AW AW &
a8 H HATATRAT I FaAss T 98 T Aoft H @1 afAe g2

(A) denfous TR fafer

(B) STeReT faavor fafer

(C) anfther IfEaT Tohet AT

(D) Sigr et fafer

The SFURTI programme of the Government is to boost production in which
one of the following industries?

(A) Khadi and Village Industry

(B) Auto Components Industry

(C) Construction Industry

(D) Industries using renewable energy

WHR H1 SFURTI F%A Heafaf@a # @ 68 3¢9 # 3curest &1 Fgrar
et 872

(A) @EY 3R AT

(B) 3iTeT UleicH 3¢

(C) fasoT 3T

(D) 3787 Foll &1 3YANT Hel dlel 31T

Social responsibility of business while appropriating natural resources by
a corporate entity has been recommended in which one of the following?

(A) Montreal Protocol of 1987

(B) Millennium Development Goals 2008

(C) SDGsin 2015 by United Nations General Assembly
(D) UNDP Human Development Report

Teh HURS FHS @l Uihide Farwa 1 RS wd a7 sgqa &
o SFReRY fr R Fefof@a § @ Fg e J i 715 872

(A) 1987 ST HAifecdel Welhiel

(B) fHafaa# saeddic aed 2008

(C) 2015 & TIF IS¢ HGIHHAT aRT TH 3T SiY

(D) g Tt I AT faera RaE
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40.

41.

An efficient dispute settlement mechanism under WTO was brought in by
which one of the following?

(A) The Uruguay Round Agreement

(B) DohaRound

(C) UNDP Human Development Report 2000

(D) The Uruguay and Geneva Round of Negotiation

faed =gMaR HereeT & dgd U Fuel fdare HAuen oF FEfafea & a fhas
CaRT ST I1=T 2772

(A) 3%3d R FASr

(B) arer W33

(C) F uaA 3 O AT fara R 2000

(D) SIaEd FT 3399 3R Saar gk

The leadership theory of describes that

effective group performance depends on the proper match between the

leader’s style if interacting with his subordinates

(A) ‘lowa State Leadership Studies’; Ronald Lippitt and Ralph K. White
(B) ‘Managerial Grid’; Blake and Mouton

(C) ‘Trait Theory’; Stodgill and Barnard

(D) ‘Contingency Model’; Fred Fiedler

I Adca &1 Reuid adar & f& v dqg
vediel Aar @1 d & @ T Aoe W R war § Ife 9w e

efiredt & Ay JIadd FAT &

(A) TeTres i 3R Te® &. cglsce; 'ATAEr Tee IsRIg Tearer
(B) seleh 3R AEC; 'Taushg @'
(C) Tersfe 3R a1 ; 'Tadwar R’

(D) %8 fheeR ; 'JTHRTHBIT HAlSH
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42. Match the items given in the List-1 and List-2 and choose the correct

options:
List-1

a. Personnel i.

Replacement Chart

b. Job posting ii.

c. Succession Planning iii.

d. Position Replacement iv.

Card
Codes:
a b
A. i i
B. iii i
C. iv i
D iii iv

N

FIraT:

= -1
a. FIfAs AT I i.

b. Jtd Q& i

c. IAURSR s ii.

d. foee Reaade #s iv.

oo w>»

COMM-23-APCC-A

List-2
A chart prepared for each position in a
company to show possible replacement
candidates and their qualification
The ongoing process of systematically,
identifying,  assessing, and developing
organisational leadership to
enhance performance.
Company records showing present
performance promotability of inside
candidates for the most important
positions.
Publicizing an open job to employees &
listing its attributes like qualifications,
supervisor, work Schedule etc

c d
iii iv
iv ii
i iii
ii i

1 AR g2 # R T e a gfed BT AR @ Reedt @ e

3?_-'!-2
FO A YA Ug & v IR Far = =
gariad gfaeuras 3FAlcart 3R 3k Aegar
T goTar ¢ |
fasuresT & o & AU WIeHAcHS sAded @
qEdle, Hedihe 3R fAerg 7 cgaffyd &9 @
Tl TET UfehaT|
FUAT & RS Fa@ FAgcaqul yal & v gt
IFACART T TAHATT Ueleeita e@r | &
HAIRT & AT wh Gl ARl 1 TR H
AR 3@ AAVAT S AeFAr, gIaeTh, H-
SR TR Y e e
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43.

44.

If raw materials are in store for 2 months, processing time 2 and a half
months, finished goods remain in store for 15 days, debtors are allowed 60
days credit and credit received from suppliers of raw material is one
month, the operating cycle period is:

(A) 7 Months

(B) 6 Months

(C) 62 Months

(D) 5 Months

I Fear AT 2 AT & AU TR A T, YO0 AT @ "7 ¢, SRR
A 15 AT & fIT TR & WA §, GoTeRT I 60 oAl 1 shise #iT IgAfd &
3R Fod AT F IR & TIed HST Tw A g, o AR T af
g

(A) 7 Fge

(B) 6 Fg=

(C) 6% Fgwt

(D) 5 #HgwA

From the following set of information, which combination is correct to
define the process of perception to understand consumer behaviour?
1. Selective Attention
2. Selective Distortion
3. Selective Retention
4. Selective Apprehension
Codes:
A. Only 1 and 4 are correct
B. Only 1, 2, and 4 are correct
C. Only 2, 3, and 4 are correct
D. Only 1, 2, and 3 are correct

oo & fafaf@d de @, 39Tl FagR @l A & fav arom &
gfshar s IRETRT et & foIw HiT @1 g Tar 87

1. TTATcHS €Tel

2. TFACHAS fapfa

3. TIAIcHS fduRor

4. TIATCHS 3T

(A) sae 1 3R 4 @ g

(B) shaer 1, 2 3K 4 @ér &
(C) ohael 2, 3, 3R 4 WEr ¢
(D) shaer 1, 2 3k 3 @er ¢
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45.

46.

47.

When the company’s Salesperson contacts the customer from time to time
with suggestions about improved uses of the product or additional new
range of products, then it is called as:

A. Proactive Marketing

B. Accountable Marketing
C. Reactive Marketing

D. Relationship Marketing

SIS UeAl T fashdl 3cdlg & SgaR 3T AT 3cdial T AHfARTFT 5 H@olr &
R # gold & WY FAI-GAT W AEH § GI&6 AT ¢, o 34
Hel ST &

A.  afeg fquore

B. Siarscg 99T

C. yfafsareier fagore
D RereraAfg Ak

Michael E. Porter’s Generic Strategies identified three basic categories of

strategies to include which one of the following combinations?

(A) High-cost producer, differentiation, and cost control

(B) Low-cost producer, differentiation, and focused Niche

(C) Specific strategic issues, vertical integration strategies, and supply
strategy

(D) Managerial resources, profitability, and focused Niche

HASH 5. G FI FARS Teeolal of fAefaf@d & & frg g & A
A & fIT ToEifaat dr die giagrdr Aot S ggerer $r?

(A) 3T AN 3c9IGeh, HAeHd, AR amra og=or

(B) & oRTd arer fA#Tar, figama, 3R Figd 3mer

(C) Tafdrse Iuwiifcier Heg, eidad ThehvT 0T, AR 3mqfd et

(D) USERRIT TATY, ATTIEdT, 3R g 3mer

Assertion (A): Rules notified by the Ministry of Corporate Affairs (MCA)
under Section 149 of the Companies Act mandates that a
listed company having a paid-up share capital of Rs. 100
crores or more shall appoint at least one-woman director on
its board.

Reason (R): The corporate entities wanted to enhance gender equality
and woman empowerment in corporate governance and
company administration.

Codes:

A. Both (A) and (R) are correct

B. (A)is correctand (R) is the correct explanation of (A)

C. (A)is correct and (R) is not the correct explanation of (A)
D. Both (A) and (R) are incorrect
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48.

49.

ABFAF (A): Fur IAFTH Fr arRT 149 F Tgd FrARe A & HASGT (TH AT
U) canT IfRglad @A # ¥g et § 6 vh gEieey $ue &
arE giE 100 HUS 9 AT 3HA AfUS AT gohol PR Yol § ar A9
a1 # HF § FA T Al AU - f@gfed Ham

FROT_(R): HIURC TTATT HART TMET IR HU UAT H olfdleh FAIAT AR
Afger TAfFIRIOT FI FGIAT AR & |

aﬂg.

a’l?i’r( H'é’f%“

H?f%'}ﬁT (A) Fr FE carET §

) ) T & 3R (R) (A) T Fer carear Il &

(D)a’m’r A)3ﬂT(R)?*1T~IFr%¥

(A
(B
(C

Suppose the demand function for a commodity is given as:
Q=500-5P
Where ‘Q’ denotes quantity of demand and ‘P’ denotes price of the
commodity. The price elasticity of demand at Rs. 20 will be:
A. -0.50

B. -0.25
C. -0.20
D. -5

A NAT for fhdll a&g & AT AT Bl 58 YR fear am &

F = 500 - 5 @

STET ' AT hT AT Hr GATAT § IR N aEG A AT AT RAAT §1 AGT A
HIACT g 20 FIF I g

(A) -0.50
(B) -0.25
(C) -0.20
(D) -5

Assertion (A): F.W. Taylor stressed on revival of interest in human
resources at work by focusing on increased production by
rationalising everything.

Reason (R): He assumed that “workers want to earn maximum for
minimum work.”

(A) (A)isincorrect, (R) is correct

(B) (A)is correct and (R) is the right explanation of (A)
(C) (A)is correct but (R) is not the right explanation of (A)
(D) Both (A) and (R) are incorrect
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50.

51.

HHGAA (A): Th Seeg Tok A g ol Pl JFAHIT FATH §¢ §U 3cUeed N
AT higd Fh HIHA W AT JAA A T & IeAeUR T SR

fem

SR _(R): 3e6i AT f&h "#ffAd goAaH s & U Af¥SRdA FAET A6d
gl

(A) (A) el & (R) T &

(B) (A) TET & 3R (R) (A) T Y carear g

(€) (A) WET & ofohed (R), (A) &I TeY ATEAT =gl &

(D) aldr (A) 3R (R) el &

If risk-free rate of return is 5%, market return is 10% and the cost of equity
is 13%, the value of beta (B) is:

(A) 1.2
(B) 1.5
(C) 1.6
(D) 1.8

i SIf@H AFd Reat 1 & 5% &, TR & 10% § 3N sfFadr & omra
13% &, o dIer (B) & Hod &

(A 1.2
B) 1.5
(C) 1.6
D) 1.8

An individual’s involvement with satisfaction and enthusiasm for, the work
he does, is known as:

A. Employee Engagement

B. Job Involvement

C. Job Satisfaction

D. Organizational Commitment

Teh i Sl Agice AR 3cATE & Y HH Al §, 38 58 & H S STelm
g

(A) FHARY TS

(B) Flerdr H #eferr

(C) =il TS

(D) HISsATcAS Fiaacerdr
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52.

53.

In which of the following appraisal criteria of capital budgeting, the use of
varying opportunity cost of capital as a discount factor is possible?
a. Net Present Value
b. Internal Rate of Return
cC. Pay-back period
d. Accounting/Average Rate of Return
Codes:
A. (a)and (b) both are correct
B. Only (a)is correct
C. (b)and (d) both are correct
D. Only (c)is correct

Qo §oifeal & fAeAfef@d & @ fhd Hodiehed ARG H Q¢ &R & § A
qoll T Feerddl 3aE dTeTd &1 39T HHT §7?
a. Y ITAT Hod
b.  Read # 3dR* &
. g-dh 3ty
d.  o@ieel/ arodr @ 3 &
%
(A) (a) IR (b) k=t WET &
(B) e (a) e ¢
(C) (b) 3R (d) eI Fer &
(D) hael (c) e &

According to the CAPM model, the cost of equity is represented by:

Rm + (Rm - Rf) Bj

Rf + (Rm - Rf) Bj

Bj + (Rm - Rf) Rm

D. Rm +Rf+ pj

‘CAPM’ #AISST & 36IER SiFdcl &1 amera CaRT gafar

ST &

ow»

(A) 3R TH + (3R TH - AT TF) fj
(B) 3R TF + (IR TH - R TF) pj
(C) Bj + (3R TH - IR TWH) 3R TH
(D) 3IR TH + IR TH + fj
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54.

55.

56.

If your score in an exam was 80, with a mean of 60, what would be the
standardized score for this exam if the standard deviation is 15?
A. 133

B. 1.25
C. 1.52
D. 1.72

U Q& H 39T THR 80 AT, 60 & AT & Y I AAe AT 15 §
dl 58 GUET & [T ATThihd FhIT AT FraM?

(A) 1.33
(B) 1.25
(C) 1.52
(D) 1.72

In a medical test, where the null hypothesis is: ‘The patient doesn’t have
the disease’ and the alternative hypothesis is: ‘The patient has the
disease’. Suppose a patient has a disease and needs treatment. In the
hypothesis testing process, which of the following errors is more serious
than the others?

A. Type-I

B. Type-I

C. Both Type-l and Type-Il errors

D. r-error

T Rifhcar qdiefor # ST qed dRepoder g W @ fAY FAE 7 3R
dofeus aReeuar g Wl &I A §'1 AT AfFT el 7 & F5 dAR
g 3R 39 sarer fr TT &1 IRFeuar gdieTor yihar § Feafef@a & @ s
o 3fe s Jfeat & e amefiv 87

A.  TEY-II

B. TsU-I

C. syl 3R ersu-Il gt Ffear
D. 3RFR

Which country is not a member of G-20 or ’Group of Twenty’?
A. Brazil

B. Canada
C. Chili

D. China

COMM-23-APCC-A Page 28 of 44



it AT S G-20 I7T 'O 3T A" FT TSI gl 872
STStret
hetlST
farelr
D. =i

o w »

57. Under Consumer Protection Act, 2019, a consumer can approach
‘National Commission’ if his total claims are:
A. More than INR 1 Crore
B. More than INR 2 Crores
C. More than INR 4 Crores
D. More than INR 5 Crores

3uierar GeToT fafaasd, 2019 & dgd, Ueh 3udlear TS Aer ¥ g9
X Fehll ¢ e 38k Fel a1 &

1 I3 I ¥ ARH
2 FUS T T A™H
4 F3 T ¥ A™H
5 a3 YT ¥ HAh

o0 wp»

58. As per V.A. Graicunas ‘Theory of Span of Control’, if a superior has to
command 5 subordinates, he/she will have to deal with how many total
relationships?

A. 10
B. 20
C. 50
D. 100

AT JpAd & fAEer fr WA @eyid & IHgER I T aRses # 5
ITENTEAT Y A ST & o 3H Fel bl Feell & fAgesr grom?

A. 10
B. 20
C. 50
D. 100

59. Income elasticity of demand for luxury goods is:

A. Infinite

B. Lessthan1

C. Greaterthan1
D. Equaltoone
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60.

61.

62.

faenfaar & a&g3it i AET $1 3T o

A. 3ed

B. 18 &H
C. 19 38+
D. T&h & ST

M-M Theory in ‘Perfect Market’ suggests that dividend payment:

A. has a positive impact on the value of a firm
B. has noimpact on the value of a firm.

C. has anegative impact on the value of a firm.
D. has anegligible impact on the value of a firm

'RiheFe Alehe' H TH-UA 2O & IcT Teldl § o Ier $farelret &
A. TH BH & Hed W HHRIcAS JHTT I8 ¢ |
B. U ®H & Hed W HIs AT ¢l usdl gl
C. U# BH & Hed W FAhRIcHS THEG TS ¢l
D. TH BH & Hod W Ueh FA0G FTd ISl ¢l

Chunk sampling is known as

A. Convenience sampling
B. Cluster sampling

C. Judgmental sampling
D. Quotasampling

<eh SAFHeATRLOT T & T H AT AT &
giaar sTaeTRIoT
FAECL FAHATT]

AT Aeh FAHATRIT

o0 >

ShICT FAHATHIOT

‘Absolute Advantage Theory of International Trade’ was developed by:

A. Adam Smith

B. Alfred Marshal
C. David Ricardo
D. Milton Friedman

HAASET AR &1 quT o fAguid’ s garT ssfaa e s ar 2

A. TwsH &Ry

B. 37hs A
C. 3fas Rersf

D. THecd WissH
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63. Which of the following tests is used to test the significance of the co-
efficient of association?

A. F-test
B. t-test
C. X3-test
D. Z test

Y & UM & Hecd T W& $el & o0 eifaf@d & @ fog gdieror @
39191 foRar STar 87

A. TH-C¥C
B. a-¢EC

C. TFa%-ET
D. 38 TEC

64. The abbreviation ‘DEFC’ stands for:
A. Direct Foreign Exchange Control
B. Direct Finance Exchange Control
C. Duty Free Export Credit
D. Duty Free Exchange Credit

gaYqrek 'DEFC' &r 7Y §:
A, wcger fagel Har fFasor
B. ucgel foa Afeey H=or
C. oo HFd fordicd Hor
D. oo AFd fafaswa sise

65 Match the following statements with their author:

a. “Marketing Mix is a pack of four sets of variables, i. Wheeler
namely; product variables, price variables, place
variables and promotion variables.”

b. “The marketing mix is the set of marketing tools ii. Cundiff. Still &
the firm uses to pursue its marketing objectives in Govoni
the target market.”

c. “Marketing is the managerial process by which jii. Jerome E.
products are matched with markets and through McCarthy
which transfer of ownership is affected.”

d. “Marketing is concerned with all the resources and V.  Philip Kotler
activities involved in the flow of goods and services
from producer to consumer.”

Codes:

a b c d
(ii) (iv) () (iii)
() (ii) (iv) (iii)
(iv) (iii) () (i)
(iii) (iv) (ii) )

cowmp»
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Frfaf@d su=t @ 3% o@s & gafad ffaw:
a. ‘IAUoTT YT W & IR Al & T . IR
d%e ¥, A 3UG W, FAeT K,
I W, IR JaR W

b. “TAUuleT fAYTT ®A IRT 8T TR i FosH fFea v aMnalfas
H 397 faUurd 3ggedl & 3m See
& fov 3gghr fFv S arer Ao
AT T FHE Bl

c. ‘RUue v gaudra gfhar § oras
GaRT 39Tl &1 SR & fAee fomar
ST g 3R oas agd ¥ @i
HT §EATAROT FHTfaT glar g I”

d. "AUUIT T FEY 3c9eeh I ITAFAT v, pfIT P
de g&g3t IR Qasit & yarg A
enfAer gy oyt 3w sfafafeay &
b

i SRIF §. Hepraff

a b c d
A. (i) (iv) (i) (iii)
B. (i) (i) (iv) (iii)
C. (iv) (iii) (i) (i)
D. (iii) (iv) (i) (i)
66. Intrinsic value of a share is calculated by:

A. Total Net Assets/No. of Shares

B. Total Assets/No. of Shares

C. Total Capitalization/No. of Shares
D. Market Capitalization/No. of Shares

Teh RN & AR Hed &l 0T fohdeh GarT &1 Sl &
Fel YEEr HIT/RRRT T Fwear

el AYTI/ART hr FEar

Tl YollehROT/AIRT T FEaT

SR YolleoT/ART shr T

o0 W »
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67. Match the following:

Book

a. In Defence of Globalisation
b. Development Planning: The Indian

Experience

c. Development as Freedom
d. Everything Happens for a Reason:

And Other Lies I’ve Loved

Codes:
a b c d
A. (i) (iii) (iv) (i)
B. (i) (iii) (i) (iv)
C. (i) (iii) (i) (iv)
D. (i) (i) (iv) (iii)
faf@a &1 AdeT #3
qEaF CECE
a. ddieoT dT 8T H i, 3T A
b. T AT HRAT 3egerd ii.  STeTErer $3Tadr
c. TIdIAT & & H O iii. GEAT Tshacl
d. &9 FT Th ®ROT & AU e &: 3R iv. e SR’
g 36 Sl A4 =R e ¢ |
&e:
a b c d
A. (i) (iii) (iv) (i)
B. (i) (iii) (i) (iv)
C. (i) (iii) (i) (iv)
D. (i) (i) (iv) (iii)
68. Match the items of List | with those of List Il:
List | List Il
Theory 2 Key Variables

a. Interest Rate Parity

b. Purchasing Power Parity
c. International Fisher
Effect
Codes:
a
A. (i)
B. (i)
C. (i)
D. (iii)

COMM-23-APCC-A

Author

i. Amartya Sen
ii. Jagdish Bhagwati

iii. Sukhamoy Chakravarty
iv. Kate Bowler

i. Spot Exchange Rate and Forward Rate
ii. Relative Interest Rates, Exchange Rates
iii. Relative Inflation rates, Spot Exchange

Rate
b c
(i) (iii)
(iii) (i)
(iii) (i)
(i) (i)
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gl | & 3mseAr @ G Il & 3seAr F gAfAd i
Gl c;cill]

Ry 2 y@
a. SIS &y A . gifor fafas ™ &3 3k arrer X
b. %I ATFT THAT i. @ sae ¥, e gt
c. IR fheR womra i qveT A &Y, e ffawa
Fe:
b c

a
(i) (i) (iii)
(i) (iii) (i)
(i) (iii) (ii)
(iii) (i) (i)
69. In accounting or auditing ‘Transposition of Digits’ is considered an error of:
(A) An error of omission
(B) An error of commission
(C) Compensating error
(D) An error of commission or compensating error depending upon
transposition of digits

AWTehel AT @I GUGT H '3hl & TATATCAROT i

AT ST &

(A TH H IR

(B) hARET Fr TH JfE

(C)  wfagfd 7fe

(D) 3ol & TATAERUT & TR 9T hARe A1 &fagid e v I

cowp

70. Income in the hands of an ‘Ordinary Resident’ from ‘Farm Building’,
constructed on classified agricultural land but situated in urban area shall
be:

(A) Fully exempt from tax

(B) Taxable under the head ‘Income from House Property’

(C) Taxable under the head ‘Income from Other Sources’

(D) Taxable under the head ‘Profits and Gains of Business and
Profession’

gelipd W A W WAAT ofher aell & # &ad ‘& WfesT @ s
'FYROT fAardT &1 3T gl

(A) I QU R JFd

(B) &R & HUd & I A & dgd H AT

(C)  '3=g @l ¥ 3T ¥ & dgd & J9T

(D) ‘'=gaEr AR U & HAh IR omr A & T A9
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71. What is the key aim of PM PRANAM scheme?
(A) Incentive farmers to reduce the use of chemical in agriculture

(B) Promote participation of youth in development
(C) Inclusive development of differently abled children
(D) Provide social security to senior citizens

dITH YOTH ANl T T 38T & g7

(A)  fraEE F H 7 W F ST B HA G F AU dearied e
(B) Taerd # Farstt H AEfERY ' Fgrar S

(C) amermer s=at 1 AN [Favrey

(D)  dR™s AT H WHASIS FR&T YeTel HaAT

72. Which is the first state in India to ban plastic envelopes

(A) Panjab

(B) Gujarat

(C) Himachal

(D) Kerala

TATiEes & formrhs W IfaaeT oele aTel $TRd &7 Ugell Ao il AT &
(A)  Yeolre

(B) IR

C) feaTTe

(D)  Hel

73. The theme for the World Economic forum held in Davos Jan 2023 was the
following:
(A) Vasudeva Kutum bakam
(B) Recover Together, Recover Stronger
(C) Cooperation in a fragmented World
(D) Greening the World

ST SiAaRr 2023 & ImAST g nfdw &g & N Fe=faf@a o
(A) aTgET TG

(B) TUeh WY Sl g T3, AT gr S3i

(C) wfsa favg & FgImr

(D) Ta%d & gU-9T AT

74.  Which one of the following is not a Indo-Pak dispute?

(A) Siachin dispute

(B) Sir Creek dispute

(C) Cross Border terrorism
(D) Dahagram dispute
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75.

76.

77.

COMM-23-APCC-A

fafaf@a & ¥ *ila a1 #Rg-are Qare =16 &2
(A B faarc

(B) W & faarg

(C) HMHAT R HTdshdlg

(D)  creranH faare

Which Committee recommended Capital Account Convertibility in India?
(A) Kelkar Committee

(B) Narshimham Committee

(C) Verma Committee

(D) Tarapore Committee

fre wfafa F sma A G @rar aRadsiaar & Rfowfer Hre

(A) HoRt FfAfa
(B) Ri¥eA wfafa
(C) &1 @fAfa

(D) WUR FfAfa

Criterion for a regional party to be recognized as a national party is these
following?

(A) To be recognized in at least 3 states

(B) To be recognized in at least 4 states

(C) To get I/10th of the seats in Lok Sabha

(D) To get I/10th of the seats in the Parliament

R & T g A TS ol & & F AT 8T I & AeAfaiad Aees &2
(A) &H T FF 3 TSIl H AIAT Ied glaT

(B) FHH A &A 4 Tl H HIAT Ired glelr

(C) olepEdHT & 1/10dT Hie gt & fow

(D) THE #H 1/10aT TATH Yo =T

Which sector of people has been recently included in the Ayushman Bharat
scheme?

(A) Street vendors

(B) Daily wage earners

(C) Micro enterprise owners
(D) Migrant workers

gTel & H 3MYSHA R Irolell H hg &1 & el 1 el fhar arr g2
(A) T dsd

(B) &fas ader sl

(C) H&H 3¢TA & Hlidh

(D) wardr sfAw
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78.

79.

80.

81.

Which of the following article has the provisions of Right to Education in
Constitution?

(A) Article 19(A)

(B) Article 20

(C) Article21 A

(D) Article 22

frifaf@a 7 @ fra sepese & dfaue &7 Rer & 3fReR & gaue §
(A) 3 19 (D)

(B)  37fede 20
(C) 3efese 21 T
(D)  3eese 22

As per advance estimates, the Per Capita Income of Himachal Pradesh for
the Financial Year 2022-23 was estimated :-

(A) 2,22,227/-

(B) 32,01,271/-

(C) 31,95,270/-

(D) 1,80,530/-

AR STEET & TR, foefrr af 2022-23 % fo femmae wewr 6t wfa =afw s

HTTHA off:-

(A)R2,22,227/-
(B)22,01,271/-
(C)31,95,270/-
(D)<1,80,530/-

Who is the ruler of Suket during the “Suket Satyagraha” (1948).
A. Bikram Sen-l|
B. Madan Sen
C. Bhim Sen
D. Laxman Sen

“Ghd TS (1948) & SRIeT Fohed T [T HieT AT |
A. TashaEae -l
B. sl el
C. #fir o=
D. of&#HT Tl

Which is the Nodal Department to attain the goal of ‘Zero Hunger’ in H.P.
A. Rural Development
B. Health
C. Agriculture
D. Education.
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AT 9eU H YT W' & &g I Yol el o [T A5l fIHmET Sl ar g2
A. FEoT g
B. ¥areyg
C. iy
D. fevem

82. In which year unique “ Jhugga Satyagraha” started.

A. 1880
B. 1882
C. 1883
D. 1885

I ‘G HeAMIG” T YT fohd ay §‘é’ I
A. 1880
. 1882

B
C. 1883
D. 1885

83. Biosphere Reserve located in Himachal Pradesh.
A. Panna Biosphere Reserve
B. Simplipal Biosphere Reserve
C. Cold Desert Biosphere Reserve
D. Simbal Bara Biosphere Reserve

AT g A Fyg TR Red s g ¢ 2
A. Ul STRARGRR Red
B. fa#cidrer sdRR Rera
C. ez f3o¢ sRAR Reg
D. fHecesT sEhRR Rera

84. Which Sustainable Development Goal is not mentioned in the Himachal

Pradesh State Vision Document 20307
A. Quality Education

B. No Poverty

C. Life below water

D. Climate action

RATTST YU F T T gEarder 2030 H T & Tdd RFE a8 &1
/

fRrer shr aqorar
fdeadar aEr
gl & R SiiaeT
Stefary fopam

oo w>
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85.

86.

87

88.

Recently ¥1,311.20 crore under the phase-1 of the proposed infrastructure
development investment programme has been approved to Himachal
Pradesh by

(A) Asian Development Bank

(B) World Bank
(C) International Monetary Fund
(D) None of the above

RHATI IS FI 81T & H YEATdd aEda A [Haer s & w’oT 1-
& TBd 1,311.20 S TUY AT AU fhaeh g@nr & 95 g7

A TS Ao d@

B. fde &=

C. 3JeRTSET Hel &I

D. 39dFd H § FIS G

Which of the following Bank has prepared the Prospective Linked Credit
Plan (PLP) for the year 2023-24 for Himachal Pradesh?

A. PNB

B. SBI

C. UCO

D. NABARD

fTfofaa & & g d& o RBarae g & T av 2023-24 & foU
giedfdea foes sfse coa (PLP) R foRam g7

A. Yoy
B. THSEIS
C

D

%

8
np
|

o 0 w >
g

Haag
gATT
ShHATh

et T s T F g} §a1 & -
A
B
C
D. A&
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89

90

91

92

93

94

95

AFUT & Aead ¢ -

A. T F et FRaTT

B. forar & &=y @aw

Cc. fawor & §eir e

D. faQwur & =i foramd

RI-AT T T ¥ -

dretAge &1 dledar & # agd gefad g

¥ =afFd aga T, eE R HaETEry § |
3T FH A HT T A THG 161 ¢ |
ARTRT T e &2 Fr garfy gl =Ru |

oo ereal @ TfSe @ Fid-a1 Jor Id ¢ -
A S - ggf

o0 w

B. 3¥a - faaA
C. UHF - I
D 3!1_0_[—%7%?’[
T RQeeT & Tl g acad § -
¥d, g, o8, gra

AT, 3mepTer, O, B9
Y, T, ofdr, faeer

foh Tax eafey o1 geffentor Sugerd -
A 37 - gEd, A, 3Yfaqd

B. §-&&d, URd, Had

C. U - g, 39, 3rdifaqgd

D. 3 - &, ued, ydfdgd

Choose the part with error.

o 0 w >

A. India is one of

B. the leading film

C. producing country
D. in the world

Fill in the blanks with the correct words from the options given below.

It is an offence to the trees in the forest.
A. Fall
B. Fell
C. Befell
D. Befall

COMM-23-APCC-A
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96

97

98

99

100.

Fill in the blanks with the appropriate one word substitute given below

A person who hates reason or discussion is called

A.

B
C.
D

Misogynist
Misologist
Misanthrope
Bibliophile

Fill in the blanks with the correct option given below

It is no use in crying over

A.
B.
C.
D.

Spoiled milk
Spirited milk
Split milk
Spilt milk

Change the following sentence into passive voice.

“The teacher marked the students generously”.

A.
B.
C.
D.

The Students have been marked generously by the teacher.
The students will be marked generously by the teacher.
The students were marked generously by the teacher.

The teacher has marked the students generously.

Choose the correct meaning of the idiom written in bold in the given sentence.

Someday you’re going to have to face the music for your actions.

A.
B.
C.
D.

To receive encouragement for one’s action.
To receive punishment for one’s action.
To receive praise for one’s action.

To receive consideration for one’s action.

Chose the correct option that is most similar in meaning to the main word given

below:-
Masquerade
A. To provide support
B. Marathon race
C. Togoindisguise
D. To mesmerize
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S T AT TG € Tl GIA AT Hgl ST T q 39 AT @A

TEST BOOKLET CODE: T ThAT
COMM-23-APCC A
Ayt v : 02 = srferaw = : 100

ik UG
1. 9T UREH B & o d1e, 38 ST IR RS Wikt A 100 wRA FFA ¢EC gehole N USATS AT
o & sHd S @ar s, wer Ar ger g3 yvo yar weaAer Infe 7 g IfE var g o 3@ W@ aw
Fohole TS @ deol Ao

2. YR TEE Fholc H WHA QU a0 diFg # 30T Ul @) foIEell | AT s
Bl ¥ gehele W $o R o fod|

3. 3O 37ereT & IS JVANR IR efe W & 30 3 / fahow RFAT ol &1 30 efe W Fgloa '<he
M & far @A gg)

4. 3HY Ugd T T TFC ghelc H QT AT FoaAl & IRI @ VAR 3R I9eh W &l AT Hiel 9ige el
U ¥ ToTohis A & oI 30T §¢, 3Rl 3T AT AR, 3Mdeed HEAT, Foholc BRI, YW HT &AM,
F13 3T gdie shg s NTAIR Me W U 3T 3m3a g & IR g

5. FUdl €U ¢ fF MNTAIR IR U5 A 39PFd TUE W Aol AR, T Fohole RS (WD) 3R
HAeaA HEAT & WawEqds M Sar el g a1 {Eafa & s a1 =& ol 9 & Ay & e &y
SFAERY 37Aigar & 81 37AIGaN gaRT 31dcsT HEAT AT Vel AT AT Gl o eI Ueehlisal & HROT 3eX
TR & Ehel [T a0 ST A FIS I AS SN &, I 3T GREAR BT FHodiohel AgI fohdT STwem IR
38 @Y @RS & &ar Smeem|

6. CE Fholc & Ycdeh 3MMgeH / Yo H TR TAThAIT (3TR) ATffel &1 3Tl TE 3R & TFA HLal g
S 3T ATAIR 3R T9eh W Toohls Pl dgd &l IS MYl 9Tl g [ QU T IRl & foIv T &
3F TEr gfafkar 3ax €, ar 39 ufafhar 3 A Rfced F S IR g0 3T oI &1 R o
AT H, A MSCH/IRA & T hael weh Fiafshdl 3 ol AR dega@r e & Tehis Y| Tl #Hel
& FHA 3F gl

7. HITANR 3W 996 W 397 T 3 A & d1g AR 98T FATCT g A & &6, 9! HNTAAR 3
T N hdel Hel Ui e B iger TfRT| AR U @Y EC gehele 3R ATANR IR gTS A
3Flar 1 9fd o S A AT B
TRETOT Rt & Hd & 6 F & fav efic Hewa gl

. gl geEl & AT Teld 3R (ST o A faEgd 8) & fov dARIcHs 37eheT gl
(@) 9% 93T & 3 & fov IR AFed €1 9% 93 & fow, ae T 3rdigar ganr aed 3% fgar
IT 3 U A foU IT 3 F TH AU &5 & T FH Feldr Fr walt |
(b) I A 3FAIcaR T A AWF 3 T §, aF 3 Iad AR AAT ST, o & QU 30 3RT & & v
e 8 3R 38 W & AU SWiFAER &8 fear s |
(c) IE IS 92T Wrell BIST AT § TeAl IFAIGAR GaRT g 37X gl [GAT AT &, o 37 9 & fov Flg
&s &6l gl
(d)STeT T 92T & IR faahodl H ¥ Th TR 3R & do1 & gl 3T g, 3o7 @ef 3Fdlcanry & it &
gl TET 3T H  fhHT Teh &l Tohls A3, 3o¢ 30 U & folv 3Mafed 3 U fohd SIRier |

11, o & 3o 3R By ool & us o fhelr off Agarfa & &rer &, 3136 TERor & Igr 3R 3ifae
AT S|

12. g U 1T wead & AU HIg 3iF AL fG7m Jrwer |

Hrares i A1 Rl oft g9 Rarsw &1 swaer adear # yfastaa g |
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